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Logical Reasoning Questions for CLAT Exam

CLAT Reasoning Quiz 26

Directions: Read the questions carefully and choose the right answer.

1. Select the related word/letters/number from the given alternatives.
Beak : Bird : : Lips : ?

A. Chimpanzee B. Snake

C. Duck D. Swan

2. Find the odd word from the given alternatives.

A. Anxiety B. Sorrow

C. Anger D. Joy

3. Arrange the given words in a meaningful order and select the option indicating the
correct order.

1. Cloth 2. Skirt 3. Cotton 4. Plant 5. Yarn
A.4,5,3,2,1 B.4,3,1,5,2
C.4,3,5/1,2 D.5,3,2,1,4

4. Ritesh moves towards south and walks 5m, then he turns to his left and walks 12m,
again he moves towards south and walks 8m. Then he turns to his right and walks
15m. Ritesh is in which direction with respect to the starting point?

A. North B. South
C. Southwest D. Northeast

5. In a multistorey building where ground floor is termed as first floor, first floor as
second floor and so on. Abhiman lives at 5th floor from top and Bihaan lives at 10th
floor from bottom. There are 6 floors between them. Find the total number of floors
in the multistorey building?

A. 23 B. 20

C. 22 D.21




6. J says ‘N’ and G are my brothers’ ; M says “P is father of G, who says ‘R is brother of
my father”. How is R related to J’s mother?

A. Brother -in - law B. Sister - in — law
C. Sister D. Brother

7. Statements:
Most of the people are doctors.
Doctors are MBBS.

Conclusions:
I. Some people are MBBS.
I1. All MBBS are doctors.

A. Only conclusion Il follows B. Either conclusion | or Il follows
C. Only conclusion | follows D. Both conclusions | and Il follows

8. A series is given with one term missing. Choose the correct alternative from the
given ones.

46 38 32 28
A. 20 B. 26
C.30 D.24

9. Find the odd word from the given alternatives.

A. Cornea B. Iris

C. Pupil D. Medulla

10. Select the related word from the given alternatives.
JUNK : LXRP : : HOME : ?

A.JRQJ B. JPNF

C.JQRJ D. IPOF
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Correct Answers:

112 3(4|5|6]7|8|9]10
C/ DIA|C|B|D|A

Explanations:

1. The first one is a feature of the second one.
As Bird has beak, similarly Chimpanzee has lips.

Hence option (A) is correct.

2. Except D, all are negative feelings.

Hence, option (D) is correct.

3. Plant = Cotton = Yarn - Cloth - Skirt
4 3 5 1 2

Hence, option (C) is correct.

4,
Hence Ritesh is southwest to his starting point.
Hence, option Cis correct.
5. Abhiman's position from bottom = Bihaan's position + 7=10+ 7 = 17%

Abhiman’s position from top = 5t

Total no. of floors = (Abhiman's position from bottom) + (Abhiman's position
from top) — 1




=(17+5)-1 =21

Thus total number of floors in the building is 21.

21

20

19

18

17

Abhimaan

16

15

14

13

12

11

[EY
o

Bihaan

RINW|IRIUWO (N[00 |

Hence option (D) is the correct answer.

[ 1—+Couple
{ }—+Siblings

(RT[P )]
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{J NG}

Hence, option (A) is correct.




10.

Most of the people are doctors means

Some people are doctors (I) + Doctors are

MBBS means All doctors are MBBS (A) =1 + A =1 =Some people are MBBS.
Hence conclusion | follows.

Again,

Doctors are MBBS - conversion -> Some MBBS are doctors.

Hence conclusion Il does not follow.

Therefore, option (C) is correct.

46 38 32 28 26
M e A

-8 -6 -4 -2
Hence, option (B) is correct.

Except medulla, all are parts of the eye. Medulla is a part of the brain.

Hence, option (D) is correct.

Hence, option A is correct.
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